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<x.ﬁ1§§%§éﬁ§m§> BRERE FERZDE NARRR 51 I i PR S BHEAAEIE
1 |SEaH 171 XKEEH 28.6 | Egtieat 100.0 /N HEET 1.59 /N7 HERT 33.3|gRMA™ 100.0
2 |8RSHT 16.8| REFAT 23.2|SIRIET 100.0 | REF AT 0.40| REFfT 1.7 | RE AT 100.0
3 |RF0AT 16.2| KEeft 20.0|FEAH 100.0| R EFHH 0.13| LA™ 1.6 |\ HERT 100.0
4 |%EA 16.2| = EA 15.4|=A0fT 100.0| £ 0.09|REHH 10| LA 0.0
5 |ER#RET 136|REH™H 13.9| FERahAT 100.0|8RH™ 0.06[gRMA™ 0.7|=REH™H 0.0
6 |MIEgET 13.2| b EERT 13.7 | EAt 100.0| R B 0.00|E&Hm™ 0.0|EH™ nARERL
7 |#IIET 13.1 | A RAE 13.6 ]/ JIIAF 100.0|#AAH 0.00[#a%kmH 0.0|#AAH HAFRBL
8 |\t 129t AT 13.1|pARE T 100.0| A 0.00|@mam 0.0|mam nARERL
9 |ALHEARAS 12.8|FARK 12.9| ™A 100.0|FeHH 0.00|Fm&hH ™ 0.0|Fmep™ HAFRBL
10 |2E# 124|hHH 12.7| KR 100.0| ER 0.00| &R 0.0| AR nARERL
N E=:5 12.3|&Hm 12.5| KEeft 100.0|/NeEH 0.00[/Ng&™ 0.0|/Ne& HAFREL
12 & 11.6|BARK 12.4| E#ART 100.0|#38mH 0.00|f##k ™ 0.0|F#k ™ MAFRBL
13 |#AH 11.4| REHT 12.3|AE4F 100.0|8/7 1R 0.00[Ba/ 1R 0.0|BaTiRM | ARREL
14 |14t 11.2| K&F+F 11.6| K&K 100.0| & 0.00| & 0.0|hEHH HARREL
15 |FAH B 10.8] WAt 100.0[KHTHE 0.00 X ET 0.0| KHTTH HAFREL
16 |%dbst 10.9| KRB+ 10.7|E B4 100.0| R LT 0.00|gR 1L 0.0|fR 1L mARREL
17 |{EmET 10.4 | %At 10.0)54L4F 100.0|# % 000%™ 0.0|#%H HAFRBL
18 |Fatest 10.2| L/ ART 10.0|#8)114+ 100.0|&FR T 0.00[ERH 0.0|iERH nARERL
19 |[#& ™ 10.1#4)11BT 9.8|BEH 100.0|EAT 0.00[#EA ™ 0.0 AT HAFREL
20 |=7xEr 9.7 |8RE T 9.6 | /N AT 100.0| FeiT 0.00|F e 0.0|F A nARERL
21 |BEH 9.6|F#™H 9.1 | B 100.0| 4 0.00 [ 0.0| =M™ HAFRBL
22 | KETH 9.3|8a 1R 9.1 | 8R#GET 100.0|/)N#BHT 0.00 | ratkat 0.0|/)N#BHT mARREL
23 |tEHAT 93|+ RAT 9.0| %4 100.0[J11 E4¢ 0.00 |&2#RaT 0.0|)Il E4F HAFREL
24 |BR™ 9| KErT 8.9|F 93.3 | ratkAt 0.00 |44 AT 0.0|EasAt nARERL
25 |gRE™ 86| 2 RH 89| LM 92.1 | b AKS 0.00| ST RHET 0.0|dLtEARA | pagREL
26 [1l/PET 8.5 | BRiEA 8.8|mEA™ 91.7| 8 HRET 0.00|FEAH 0.0|®HRET | AARRLEL
27 | FA&H 8.3|RFNAT 8.3| REFHT 91.4 |4 BET 0.00|&Fn#T 0.0|#MA HET | pARREL
28 |FEABET 8.3| = #xHT 8.3| = A#t 90.0| TR} ET 0.00 [ FERaHAT 0.0| 3L &I AT mARREL
29 [FAJIF 8.3| FE# 17| RH® 89.7[FEAH 0.00[=t AT 0.0|BEAH HAFRBL
30 |AtE4 8.1|*Hm 7.6|MAK™ 88.6 | R AIAT 0.00 |4t 0.0|EF0fT nARERL
31 |Z#mar 8.0|Z#hET 7.3|/heEm 88.2| FIREHAT 0.00| &y 0.0| FEREHAT | PARRLL
32 |FEH 7.7 | B+ 7.2|KETH 87.5|= L RAT 0.00|gR & FT 00|ZLRET | AARRGL
33 |prEH 7.7 |t EET 71| &% 87.5| B4t 0.00 |5+ 0.0|E#t HAFREL
34 |BEEwm 7.3| MK 6.9|8RA™ 87.3| & ipy 0.00] e 114t 0.0 | Z#mET HARREL
35 | REFET 7.1|gRLs 6.9| =M 86.4|tr & Hy 0.00|= @A+ 0.0|8k &1 MARRAL
36 |ARiEARS 6.8| _EAART 6.7|= L RRT 85.7 | B EmAS 0.00]#2J11®7 0.0|F&E®mAN | pARREL
37 | ERART 6.7|EH® 6.4| BRI 842|114t 0.00| & 28T 0.0t HAFREL
38 |#RilH 6.6| EmAt 5.9 |4 BAT 83.3|mm@#t 0.00|Fa g T 0.0| =@t nARERL
39 | K&EH 6.6 | SZRIAT 5.6 | 1L/ ET 83.3[#4)11HT 0.00 g8 ¢ 0.0 #4187 MARRRL
40 |'= @4 65| EAH 5.5|hEHH 82.1| & 7MT 0.00| {4t 0.0| & ZRET HARERL
41 /N feRT 6.5|EATH 5.5|&RH 82.1|FI gAY 0.00| X &+t 0.0 B R Ay MARRAL
42 |E3R# 6.2/t 5.4|BAH 81.8 |4+t 0.00| &K+t 0.0|p&8 4+ HARREL
43 | TEREHET 6.0| FERahHAT 53| REH™ 81.7|Fa# 0.00| 2R+ 0.0| &4 HAFRBL
44 |BHRBRE 6.0| R E At 5.2| AR 81.3| T &#t 0.00 [k E#t 0.0| FHEH HARERL
45 |KREHET 5.7|{&R ™ 5.1|F*%Hm 81.3| KB+t 0.00] E#ART 0.0|X#est naRRRL
46 |Ba/ R 5.4 | A BAT 5.1 | BaEEmAS 80.0[&EH 0.00|mgAREHT 0.0|&EH HARERL
A7 |E#H 5.3 | SRR ET 5.1|FeHm™ 78.6|BAH 0.00[ A%+ 0.0|BAK HAFRBL
48 |z 5.1|KR&E#H 5.0 | Z#mET 78.3|& EAt 0.00|E&#t 0.0|&EH nARERL
49 (AR EET 5.0 |8 FFIRET 49| 779| KEHR 0.00| K&+t 0.0| KEeHt HAFRBL
50 |[R&F# 4.8|FdbAt 49|50 #RH 76.9| FHART 0.00 A&y 0.0|_EF#ART BARREL
51 [ERIFRET 46|B 54 48| B A 75.0 [FEA S HT 0.00 | prig#t 00|FAREHRT | pAfREL
52 [ER™ 4.5/ fERT 4.8|/NAAE 75.0| A8%t 0.00 43R4t 0.0| A%E4F HARERL
53 |SZEHET 4.5|/NET 45| REET 4| EEH 0.00] Wiz 4t 0.0|E&Ht MARRAL
54 |&28HH 4.3|EH 45|t AET 714\ K24 0.00|E B 4t 0.0| KEH pARREL
55 | LA™ 42| AR IRIES 0] 66.7| A ZHET 0.00| b4t 0.0| AT MARRAEL
56 | 39|8RSHT 4.3[#A)11ET 66.7 | FRiE# 0.00 [;th FHET 0.0 FrigE# HAFREL
57 |Fahmh 3.7 A EHT 4.3|mARE AT 66.7 | 43 Ft 0.00 [#& 114t 0.0 &3R4 HAFRBL
58 [IifHt 3.6|{ERAT 4.2 | R 66.7 | ILFZAT 0.00|B B+ 0.0| LAt MAFRBL
59 | KEe+t 3.5| T 38| KREFA 60.0(8 B+ 0.00|/hadt 00(EmBEH MARERL
60 |/INiBRT 3.4|R4F 38|iEAT 50.0 |5 k4t 0.00 [3x3mi T 0.0|#idb4t HARERL
61 |FREH 3| #AIA 3.5| At 50.0 |5tz A ET 0.00[=ZWw#t 0.0|st R AT HAFREL
62 |FAKTH 2.9 |3RipiET 34|f=mET 50.0 #4114+ 0.00] 1L/ ey 0.0|#J114¢ nARERL
63 [T 2.8|%)IlF 32| £ #t 333|AKEH 0.00[ KRB F# 0.0|B &+ HAFRBL
64 |FHH 26| B+ 3.1 3R AT 33.3[ /st 0.00| = HT 0.0/t mARREL
65 |E#H 2.1 & # 20|trsHy 0.0 |35 Br 0.00 | grimEy 0.0 |35 BT HAFREL
66 |JIl £+ 0.6t 1.8| &+ 0.0|E At 0.00| 4% 0.0|F At mARREL
67 |FFH R PNt 0.0|/Nz8T SR REL| L/ RRT 0.00|/\sgRy sEREL|IL/ KRBT sARESL
68 |2+ RET R A 0.0J11 k4t ERRLEL| KSR 0.00JIl k4t ERBREL|RSTH | pARELEL
69 |FEAf - AR AT 0.0|dbiEAN | EWHRLL|BRESRN 0.00)db48AN | ERLL|TREBRI| pAgREL
70 | XEHR - ENF 0.0[F&# EfEREL|ERAT 0.00[ &+ EfEREL|ERAT MrREARL
1 |BARH Il Eeyp: 0.0|Z=EH SBaL| SREERT 0.00|x=E# EEREL| SRIRET HARREL
72 |3R3pET N BB R A 0.0|BRBRA ZHgsL|34 0.00|BFRBRK | EWmaL|RA MAREARL
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